MATH22%0 Complex otinbles  with Rpplicartion
Sipgestod Solution for HW 1|
SEC .94
[. Soluton. C:lzl=|
(a) Let ﬁz);z‘. o 2=2. P=0
Acory fe)=2m (2 -P)= 4.
ch let f2) = F . Thm Z=0.P=2
Acwaf(z)—azg(Z*P) =~
© let =35> oy z=7. p=3
Do oy flz) = 2 (R -P) =g
Remork. Cleck the coditime (00(B) 6f Thm. wm SEC. B by W‘X@&]ﬁ'

Z. Solubion - Obviously , Acarg fiz) =2 X3 =bu frm e fgure .
Bﬂ%aT_ﬁ_m. m SEC.93 . we Awe Z-P=3
Shace ' Io m@my‘n C. we foe pP=0.
TRr = 2=3.
(Wzrefore, fﬁ@mmlwrofz@i‘tﬁ W 3.

Q3. Frd Aow mony rovts dooy the finctien Fl9= 22"~ +2+] fwe on the
rl‘@%/b—h”olf;%m.
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